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Questionnaire designing
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Design questionnaires to collect data on the following.

1. The height of 20 children in a class.

2. How long it takes the students to travel to their school.

3. How good students think their teaching is.

4. The weight of the students in a class.

5. How many hours of exercise a student performs every week.

Box Plots

[image: image15.png]3) The table below shows the amount of rain (to the nearest 0.1mm) each day over a period of
one month for a town on the east coast of England.

13, 20, 23, 32 34 18 31, 23 19, 26
16, 00, 24, 31, 06 07 03 00, 22, 15
36, 23 18 27, 30, 29, 12 22, 14, 33

2) Draw a stem and leaf diagram for the data with each row representing 0.5mm of rain.

The table below shows the amount of rain (to the nearest mm) each day over the same period
for a town on the west coast of Ireland.

36, 30, 42, 25 36 34, 43 35 42 21,
26, 29, 42, 40, 22 31 24, 41 00, 00,
47, 35 29, 47, 39, 34, 27 41, 30, 41

) Draw a stem and leaf diagram for the data with each row representing 0.5mm of rain.
) Use your diagrams to comment on the differences between the two sets of data



The box and whisker plot represents the cost, in pounds, of twelve CD’s.
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1. What is the cost of the upper quartile?

2. What is the range of the costs of the CD’s?

3. What is the median?

4. How many CD’s cost between £14.50 and £26.00?

5. How many Cd’s cost less than £14.50?

Use a ruler to plot box plots for the following questions.

1. These numbers reflect the scores achieved by 15 students in a Statistics test.

78, 82, 74, 45, 68, 75, 93, 54, 61, 70, 48, 66, 62, 51, 77

a) Put these values in increasing order.

b) Count to the fourth value – this is the lower quartile.

c) Count to the median value – this is the eighth value.

d) Count to the twelth value – this is the higher quartile.

e) Plot a box plot.

2. This is the minutes spent by 11 students playing computer games.

40, 26, 60, 64, 33, 39, 28, 46, 47, 51, 55

Plot a box plot for these values. 

[image: image2.png]‘The diagram shows two box plots representing the diameters of rods made on two machines.
Two samples of 100 ods were taken from each of the machines.
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‘The rods are produced to a diameter of 15.00 mm and any rod which is more than 0.01mm
above or below that value is ) scrapped if it is too small or b) re-machined if it is too large.
Any value between these allowances is acceptable.

Use the diagrams to comment on the accuracy of the machines




Stem and Leaf diagrams

1. A stem and leaf diagram has been drawn for the number of cars parked in a car park each day a number of days.
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1. Jenny records the heights (mm) of 19 seeds planted from Packet A after 2 weeks.

27, 17, 43, 52, 0, 4, 15, 37, 28, 19, 14, 16, 37, 42, 51, 8, 22, 31, 19

i. Put the data in a stem and leaf diagram.

ii. Find the median

iii. Find the range

2. Jenny records the heights (mm) of 19 seeds planted from Packet B after 2 weeks.

27, 19, 14, 41, 18, 24, 18, 9, 33, 27, 16, 19, 24, 25, 34, 12, 34, 22, 15

i. Put the data in a stem and leaf diagram

ii. Find the median

iii. Find the range

3. Which packet do you think is more successful? Give a reason.



Probability 

	1. You roll a fair dice. What is the probability of:

i. A five

ii. An even number

iii. A multiple of 3

iv. A number less than 6.

2. A jar contains 9 red counters and 21 blue counters. What is the probability of:

i. A red

ii. A blue

iii. A green


	3. You toss a fair coin 360 times.

i. How many times would expect a head?

ii. If you obtained 170 heads, is the coin biased?

4. A spinner has numbers 1 to 5, so that each number has an equal probability. How many times would you expect a five if the spinner is spun:

i. 10 times

ii. 250 times

iii. 400 times


1. A coin is biased so that the probability of obtaining a head is 3/5 and the probability of obtaining a tail is 2/5.
i. Copy and complete the tree diagram.

ii. Work out the probability of 2 heads

iii. At least one head

iv. 2 tails

v. Exactly 1 tail

2. The probability that a school bus is late on any day is 1/10. Use a tree diagram to calculate the probability that on two consecutive days, the bus is:

i. Late twice

ii. Late once

iii. Never late


1. A bag contains 3 black discs and 7 white discs. A disc is taken at random form the bag and not replaced. This is carried out three times. Calculate the probability of getting:

i. A black disc on the first draw

ii. A black disc followed by a white disc

iii. A black disc followed by two white discs

2. It is know from past experience that of every 350 students entered for a typing examination 280 will pass the first time. Of those that fail, 80% of them pass on their second attempt. What is the probability that a student, chosen at random from a group of students sitting the examination for the first time, will pass on the first or second attempt?
Statistics, Measurements and Probability exam questions
Jun 12 paper 1

[image: image3.png]4 Here are the speeds, in miles per hour, of 16 cars.

31 52 43 49 36 35
54 43 4 46 42 39

Draw an ordered stem and leaf diagram for these speeds.
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Jun 12 paper 1

[image: image4.png]15 Harry grows tomatoes.
‘This year he put his tomato planss into two groups, group A and group B.

Harry gave fertiliser t0 the tomato plants in group A.
He did not give fertilser to the tomato plants in group B.

Harry weighed 60 tomatoes from group A.
‘The cumulative frequency graph shows some information about these weights.
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(a) Use the graph to find an estimate for the median weight.
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[image: image5.png]‘The 60 tomatoes from group A
had a minimum weight of 153 grams
and a maximum weight of 186 grams.

(b) Use this information and the cumulative frequency graph to draw a box plot
for the 60 tomatoes from group A.
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Harry did not give fertiliser to the tomato plants in group B.

Harry weighed 60 tomatoes from group B.
He drew this box plot for his results.
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(¢) Compare the distribution of the weights of the tomatoes from group A with the
distribution of the weights of the tomatoes from group B.
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Jun 12 paper 1

[image: image6.png]19 Wendy goes toa fun fair.
She has one go at Hoopla.
‘She has one go on the Coconut shy.

‘The probability that she wins at Hoopla is 0.4
‘The probability that she wins on the Coconut shy is 0.3

(2) Complete the probability tree diagram.

Hoopla Coconut shy

(b) Work out the probability that Wendy wins at Hoopla and also wins on the
Coconut shy.




Jun 12 paper 2

[image: image7.png]3 Pradeep wants to find out how much time people spend playing sport.

He uses this question on a questionnaire.

How much time do you spend playing sport?

0—Thours 1-2hours 3 —4 hours

(a) Write down two things wrong with this question.

(b) Design a better question for Pradeep’s questionnaire to find out how much time
people spend playing sport.




Jun 12 paper 2

[image: image8.png]12 The probability that a biased dice will land on a five is 0.3
Megan is going to roll the dice 400 times.

Work out an estimate for the number of times the dice will land on a five.
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[image: image9.png]4 Alison wants to find out how much time people spend reading books.
She is going to use a questionnaire.

Design a suitable question for Alison to use in her questionnaire.




Nov 12 paper 1
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There are only red counters, blue counters, white counters and black counters in a bag.

The table shows the probability that a counter taken at random from the bag will be red
or blue.

Colour red blue white black

02 0.5

Probabi

The number of white counters in the bag is the same as the number of black counters in
the bag.

Tania takes at random a counter from the bag.

(a) Work out the probability that Tania takes a white counter.

There are 240 counters in the bag.

(b) Work out the number of red counters in the bag.




Nov 12 paper 1

[image: image11.png]19 Sameena recorded the times,in minutes, some girls 0ok 10 doa jigsaw puzzle.
‘Sameena used her results to work out the information n this table.
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(8) On the grid, draw a box plot o show th information in the table.
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(b) Compare the disrbutions of the g’ times and the boys’ times.
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[image: image12.png]9 The stem and leaf diagram gives information about the numbers of tomatoes on

31 tomato plants.
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(a) Work out the median.

(b) Work out the interquartile range.

Key: 5| 7= 57 tomatoes
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[image: image13.png]21 Here are seven tiles.
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Jim takes at random a tile.
He does not replace the tile.

Jim then takes at random a second tile.

(a) Calculate the probability that both the tiles Jim takes have the number 1 on them.

(b) Caleulate the probability that the number on the second tile Jim takes
is greater than the number on the first tile he takes.
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a) How many days did the number of cars in car park get counted.


b) What is the modal (most common) number of cars parked?


c) Find the median number of cars parked in the car park?
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